
1

2

3
4

5

6

7

9

10

8

TAWI
Box 10205 434 23 KUNGSBACKA Sweden

Tel +46 300 185 00
info@tawi.se

www.TAWI.com

 10250
No Fast coupling,  upper  10250 A

m
o
u
n
t 

Art. No.

1 Plate to fast coupling upper 1 10252

2 Rubber gasket 1 10253

3 Buckle to fast coupling upper 7 10251

4 Screw M4X7 MFS 3 *

5 Nut M4 3 *

6 Rubber gasket 1 10092

7 Frame 1 20093

8 Screw M6X25 2 *

9 Pre-assembly plate 2 *

10 Nut M6 2 *


